14

10

2002



2002

2002




2002

1987
15
2001
2002
2002

2001

530

2002
30

14 10 25



2002

S o

S —— o

12

114

16

S —— |

S T

18

A — |y

S



2001

2002

2002






1989 1999

1989 1999



10 10 20 20 50 50

80
100

2001

171
162 95



20

o

10 20 20 50 50

22

10

18

10 20

11

11

20 50

49

50

18




12

13 14 15
12
27.7 45.4 26.9] 13.3 61.4 25.3] 52.6 40.0 7.4 60.0 30.0 10.0] 40.6 42.6 16.8
35.4 38.9 25.7] 13.9 42.5 43.5] 44.1 40.6 15.3] 50.7 37.0 12.3] 35.2 39.9 24.9
22.0 42.9 35.2 6.7 50.8 42.5] 28.4 51.4 20.2] 29.8 53.2 16.9] 19.5 48.8 31.7
36.4 58.8 4.8] 22.3 67.5 10.2] 37.2 59.0 3.7] 46.4 50.2 3.5 34.1 60.1 5.8
83.8 16.2 0.0] 82.0 17.2 0.8] 93.9 5.9 0.2] 94.7 5.3 0.0] 91.6 8.2 0.2
31.7 46.7 21.5| 15.9 61.1 23.0|] 46.8 44.3 8.9] 42.2 50.7 7.2 34.3 50.5 15.2
54.2 24.1 21.7] 24.0 48.1 27.9] 74.2 14.4 11.3] 65.4 19.2 15.4] 53.1 27.5 19.4
41.8 46.9 11.4] 39.8 47.8 12.3] 63.3 33.5 3.3] 69.2 28.2 2.5] 55.6 38.1 6.3
34.6 37.4 27.9] 24.5 47.1 28.4] 44.5 47.9 7.6] 56.4 37.6 5.9] 39.3 42.9 17.8
52.2 25.6 22.2] 21.1 43.4 35.5] 57.4 25.7 16.9] 59.5 33.3 7.1 48.5 29.8 21.7
36.4 42.5 21.1] 25.3 38.4 36.2] 52.5 32.6 14.9] 54.9 31.5 13.6] 45.0 35.5 19.5
43.7 39.7 16.6] 33.2 46.3 20.5| 64.7 29.3 6.0] 71.7 24.0 4.3] 55.9 33.5 10.6
36.1 44.2 19.7] 22.4 52.8 24.8] 50.1 41.0 8.9] 53.6 38.7 7.7] 40.9 44.2 15.0
13
27% 44% 16% 13% 100% 150
21% 56% 10% 13% 100% 136
24% 37% 12% 27% 100% 51
32% 32% 10% 26% 100% 50
40% 14% 19% 26% 100% 42
30% 22% 4% 44% 100% 2,938




14

2.4 -0.2 2.6 20.0] -0.7| 20.8] 23.8] 21.7 2.2
1.6| -0.6 2.1 33.1] -2.2| 353 24.3] 205 3.8
3.7 0.6 3.2 28.3] -3.7| 320 26.5 26.0 0.5
1.3 0.4 0.9 28.4] -1.3] 20.7] 22.2| 20.7 1.5
2.5/ -1.6 4.0 297 9.3 20.3] 2.7 21.2 1.5
48.5| 48.6] -0.1] 61.9] 3.7 2| 78.3]  90.5| -12.1] 11,846
16.0|  15.0 1.0| 49.3] 39.6 7| 325 37.8] 5.4 2,151
57.1| 91.9| -34.8] s50.1| 33.4| 16.6| 114.0| 274.8| -160.8 2,939
51.8| 62.7| -10.9| 87.7| 89.2| -1.5] 59.1| 70.3] -11.2| 3,847
59.5|  62.9| -3.3] 58.5 49.0 9.5 101.7] 128.2] -26.5] 2,909
2000 87000
15
250 60
'S
200 . 50 'y = 5.7863x + 10.831
~ R? = 0.3313
40
150
30 -
o 100 =
o o
IS <20
50 y = 0.0177x + 82.384 10 -
R? = 0.2244
0 : 0
1,000 2,000 3,000 4,000 0 1 3 4 5
2000 98




2002

82 91 91 99

0.0% 10.0%  20.0%  30.0%  40.0% 50.0%  60.0% 70.0% -10.0% 0.0% 10.0% 20.0% 30.0% 40.0% 50.0% 60.0% 70.0% 80.0% 90.0%

3

m80 10 m80 10 O




98

2003

35

15




0%

100%

39.3
507775777 A
42.6 .// 7 """"""/’/’
2077777
23077277
45.2 B 77777/ 77!
41.9 29587 M ........ 77 .m [ 49 9% -
26% 46% 60% 80%
=]
m} o [S]
a B m]
1999

10



106

104

102

100

98

96

94

92

1999

K NN RTINS \B)\ (X

| | | |
0% 20% 40% 60% 80% 100%

=] O a B O
1999
103.58
100.55
99.50 99.96
96.12
o25 29 W40 44

2001

11



10

0%

13
LB L W R \TEN\\ 758/
/55 W W\ BN\ /585
NEN T
NEN/IEE ), T i \EN\\ /i, e}
36.9
S T e G B 7/ B
26% 40% 60% 80% 100%

=]

m] o

B m]

12



10

[co)
< N o W x| o N% ©
. BEAENR B

|

87.8

73.2

65.7

12

[{e]
N B AHEY | B
[{e]
NE @0
2 T =
SN
—
HENE 2
|7 [ I = |
- NSV Z =
UL A Ve
TSV _
N BaEEY H
—
BEON
| | | | |

L | 1
[c) ~ © Yol < ™ o~ — o

10
9

100
02001

13

1999

13

01996

56.9
.3

...

46

41.4
1999

1996
2001

OM

100
90
80
70
60
50
40



16 18

16

35

14

24

71




18

2410752043457207351074954212212285508545053828268927400304
— N N AN AAAAAAT|O A ™ Al = — — N A< e AN M < NN [
1 — N N
* * * * *
o’ A

2001

99

99

2001

15



2001

2001

2002

2001
2001

2001

2002

16

2002
2002

2002

2001

2002



2002

N N ” ”
N N ” ~
N N N N 7 7
N N N N 7 7
N N N N 7 4
N N N 7 e
N N M N e e
N N M N e e
N N ” ”
N N N ” ” ~
N M N N e N

130.

120.

110.

100.

90.

80.

70.

>
®.
NS

123456 78910111212 3 4567 891011121 2 3 456
2000 2001 2002

17




2002

105.0

2002
10

10

100.0

95.0

90.0

85.0

80.0

1234567 891011121 2 3 4567 891011121 2 3 456

2000 2001

2000 10 100

2002

18




15.

10.

10.

15.

20

15.

10.

10.

15.

20.

15.

10.

10.

15.

20.

0k

o L2001

97/

20.0 15.0 10.0

0.

5.0

0 5.0

10.0 15.0

97/

o0 L

20.0 15.0 10.0

0.

5.0

0 5.0

10.0 15.0

0 L

=3
)
=1
S
I
<

20.0 15.0 10.0

0.

5.0

0 5.0

10.0 15.0

15.

10.

10.

15.

20

15.

10.

10.

15.

20.

15.

10.

10.

15.

20.

0K

¥

20.0 15.0 10.0

5.0

? 97/
/
0

0. 5.0 10.0 15.0

=3

P

001/

20.0 15.0 10.0

5.0

10.0 15.0

0 20024 .

0k

20.0 15.0 10.0

5.0

19

0.0 5.0 10.0 15.0

.0

.0

=3

20.0 15.0 10.0

5.0

0.0

5.0

10.0 15.0

20.0 15.0 10.0

5.0

0.0

5.0

10.0 15.0



15

16

12

98

99

2000

20

2001

2002

12



15

1.20
1.00
0.80
0.60
0.40
0.20 0.20
96 97 98 99 2000 2001 96 97 98 99 2000 2001
—_—— -3 —_— —_— —_— —a—
—_ P — — —_—— —_— —
2001
16
7.
2001

6_ L

5_ L

4_ L

3_ L

2_ L

R® = 0.3692
1_ L
0- L L I I Il
.00 0.20 0.40 0.60 0.80 1.00 1.20
1996 2001
2001

21



50

89

22

99

2002

10

322



23



24





